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2 B & EfT 39 38 77 10.0 67.0 500
HE (B R A BRF 40 38 78 11.0 67.0 400
3L HE ER 39 39 78 9.0 69.0 300
Afi1 =T 41 39 80 10.0 70.0 100
541 mx  FH 39 37 76 5.0 71.0 80
64z TRk FH 39 42 81 10.0 71.0
741 A Et 37 37 74 2.0 72.0 70
841 wE ER 40 39 79 7.0 72.0
9fz 1T IPS 41 39 80 8.0 72.0
104z tE &5 38 43 81 9.0 72.0 50
1141 B2k AR 44 36 80 7.0 73.0
12431 FE R 41 41 82 9.0 73.0
13431 INER IERS 44 43 87 13.0 74.0
14431 B EE 42 38 80 5.0 75.0
154 FEll FR 45 39 84 9.0 75.0
16431 Hff %58 42 40 82 7.0 75.0
1741 FiL »E 39 40 79 3.0 76.0
18431 NTIR 41 40 81 5.0 76.0
194z F OEX 43 40 83 7.0 76.0
201 FaF F0iE 45 41 86 10.0 76.0 50
21431 ZH# 44 45 89 13.0 76.0
224 IR IEBA 41 39 80 3.0 77.0
234z Br[&R  25h 42 39 81 4.0 77.0
24431 I = 43 39 82 5.0 77.0
25431 B OB 44 46 90 13.0 77.0
264 A RR 45 42 87 9.0 78.0
2741 RE  #E 44 43 87 9.0 78.0
28411 M RAER 45 44 89 11.0 78.0
291 BEE =# 42 37 79 0.0 79.0
301 ONITIES S 41 39 80 0.0 80.0 50
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40131 TR BB 48 48 96 10.0 86.0 50
414 HE  =A 56 46 102 10.0 92.0

BBE we ®BE 61 47 108 13.0 95.0 80
43131 EH WBE 56 50 106 10.0 96.0
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